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NAME

PA.D.1.1 and 1.2

ithe group. The median score made by the group on the last test was

enTs are shown. What would have been the score for +he 5™

o

33,26, 29, 30

@ If the number 30 is added how is the mean affected?

Your first 6 test grades mean score was an 80%. Your next quiz grade was 100%. WhaT is
your mean score of the 7 quizzes?

What is the next number to have a mean of 80?
Tuesday 80
Wednesday 82
Thursday 78
Friday ?

12,15, 18, 14, 45, 15, 16, 13

@ Given the following data which measure of central tendency would it be best to
use to describe the data?

a. Mode
b. Range
c. -Mean

d. Medf@ﬂ.
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iithe group. The median score made by the group on the last test was
é_,,'nTs are shown. What would have been the score for the 5™

§0,80 )@ 4% .

Py S, ot vabul i
20‘5;‘}6‘315 . W Xg orﬁ/’fé@f\
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Your first 6 test grades mean score was an 80%. Your next quiz grade was 100%. WhaT is
your mean score of the 7 quizzes? 5,0 %l = H&O
102 .

?0/7

' What is the next number to have a mean of 80?
- j =
Tuesday 80 LILO il
Wednesday 82 H 3 (6 ~9(9 L7[0O
Thursday 78 —
Friday ? |

12,15, 18, 14,45, 15, 16, 13

@ Given the following data which measure of central tendency would it be best to

use to describe the data? . " - 9
. The vedian e cause 49 s an
b: Range ULU{/ ‘\ Oﬁi

c. -Mean

(d) Med i an
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GWSZ« the line of best fit for the following scatter plots.
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Ly M e Slope and y-1htaces

G’U)EZ« the line of best fit for the following scatter plots.
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NAME

PA.D.2.1, 2.2 and 2.3

@,ﬁf A bag contains red, green, and blue marbles. A marble is drawn randomly from the bag, its
N color is recorded, and then it is put back in the bag. This is repeated a total of 30 times. The
results are shown in the table.

Marble Color | Frequency
Red 3
Green 6
Blue 21
‘What is the experimental probability of drawing a red marble?
1 1 1 7
(4] I [B] 3 [C] 5 [D] e

.\@/‘ The spinner below is spun 120 times. How many times will the spinner likely land on the letter
"~ B?

\@ A bag contains 25 marbles. There are 7 blue, 6 green, 6 red, 3 yellow, and 3 black marbles.
" Without looking, Gail reaches into the bag and draws one marble. What is the probability she
draws a red matble?

19 1 6 6
fkl = Cl = D] —
[A] > [B] g [C] 55 [D] T
A single die is tossed. Find the probability of getting a 2.
1 1 5
A - B 1 C = D -
[A] c [B] [C] 5 [D] z
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A coin is tossed and a die is rolled. What is the probability that the coin shows tails and the die shows an even

numbet?
A 1L
6
B L
8
o 1
9
D X
4

(\ A beverage company wanted to see if

(ﬂ A mayor wanted to see if the peapls n people in the United States liked then

hI}S) town thought he was doing a good nwel\;vliﬁg;mce best represents a
jo ’
population?

Which choice best represents a sample?

A. 1,000 unemployed voters.

B. The mayor's family. -.
C. Theresidents of the town. ‘
D. 242 voters. |

A. A selection of logo artists.
B. Every person in the United States.

C. A selection of shoppers from
different states. ,

D. 3,800 children age 5 - 15

L

8 A bag contains 3 pennies, 3 nickels, and 5 dimes. A coin is drawn at random and pféced ina
= " bowl. Then a second coin is drawn and placed in the bowl. What is the probability that the first
coin 1s a penny and the second coin is a dime?

2 3 8 15
(Al = [B] I 7 P 57

/’\
@“, Cards spelling out DEPENDENT are shuffled and placed face-down on a table.

.\_m’

DIIE||P||E|IN|[D||E|IN||IT

A card is drawn, and without replacing it, a second card is drawn. What is the probability that
the first card has a P written on it and the second card has a T written on it?

(4] — B] c] 2

1
il Dl =
72 36 17 (] 3



Each game wheel is divided into equal sections. The spinners on the game wheels are each
spun once and the tumber each spinner lands on is recorded.

Spinner 1 Spinner 2
What is the probability that both numbers are even numbers?

2 11 3 . 3
[A] E [B] 5 [C] 5 D] =

] ]‘ / There are 14 blue marbles, 22 red marbles, 22 vellow marbles_ and 17 green marbles in a bag. A marble is drawn
randomly. What is the probability that the marble is red or vellow? -

"
a 12
25
g 14
75
c &
22
D, =
/2>

|2~ )The table shows the drink preferences of 50 shoppers at the mall.

DRINK SURVEY
) Number of
Drnink
Shoppers
A 7
B 8
C S 11
D 10
E 14
What is the probability that 1 shopper, selected at random from the 50 surveyed, preferred
either Drink D or Drink E?
19 7 12 28
Al — B] — C] — D] —
[]50 []125 []25 []50
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PA.D.2.1, 2.2 and 2.3

@)’ A bag contains red, green, and blue marbles. A marble is drawn randomly from the ba | its

N color is recorded, and then it is put back in the bag. This is repeated a total o@[ﬁig;s? The
results are shown in the table.

| Marble Col F «FCLVVUM‘”?L@ QAT !
arble Color || Frequency ———"—“_—/—___/‘/é
Red (3 , -{—DMPO%II’)(Z At
Green 6 '
Blue 21

3 = L
‘What is the experimental probability of drawing a red marble? 20 j O

| 1 1 _j/ﬁ 7
E @ | €1 Dy

10

‘ Ispinner below is spun 120 times. How many times will the spinner likely land on the letter

= |
| = X

- —
w P
— -

g
g |20

\@ A bag contai@xarbles. There are 7 blue, 6 green@ed, 3 yellow, and 3 black marbles.

T Without lookifig, Gail reaches into the bag and draws one marble. What is the probability she
draws a red matble?

19 1 iy 6
A] =2 = ([C]) o= o
[A] 25 [B] G @ 25 ] 18
_ A single die is tossed. Find the probability of getting a 2.

[B] 1 [C]

A

1
2
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A& [A coinis tossed and a die is rolled. What is the probability that the coin shows tails and the die shows an even
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. A selection of logo artists. %
Every person in the United States. |

~ §J = The residents of the towy A selection of shoppers from
§ é 242 voters ) : different states.
e § = . spmp : D. 3,800 children age 5 - 15
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=" bowl. Then a second coin is drawn and placed in the bowl. What is the probability that the first |7 D MLC(J
coin 15 a penny and the second coin is a dime?

2 5
3 3 8 15 = o =
5 Bl € 5 P it 10
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‘1 Cards spelling out DEPENDENT are shuffled and placed face-down on a table.

i
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DIIE||P||E||N||D|[|E||N]||T

A card 1s drawn, and without replacing it, a second card is drawn. What is the probability that
w . .
the first card has a P written on &t and the second card has a T written on it?

1 1 2 1
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Each game wheel is divided into equal sections. The spinners on the game wheels are each
= spun once and the number each spinner lands on is recorded.

Spinner 1 Spinner 2

What is the probability that both numbers are even numbers?

2 11 3 .
E [B] += €l = [D]

0o | W

22 red marbles. 22 vellow

') There are 14 blue marbles, - marbles Jand 17 green marbles in a bag. A marble is drawn

randomly. What is the probability that the marble is red_,'ello“"? / _'L CU CLC [( M é/_l,/qék f o S
Q9 22 = qqmdm\mmz
L 4 +bs
75 Hwttd bag.
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iThe table shows the drink preferences of 50 shoppers at the mall.

_7 DRINK SURVEY
] Number of
Driak Shoppers ‘ :
A7 jottd . 24 . 12
me—— —_

b i 50 50 2.5
C 1

D 10

E 14

What is the probability that 1 shopper, selected at random from the 50 surveyed, preferred
either Drink D or Drink E?

19 7 N 12 29
=] = B] = [€1) 5% ) =
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1. Which equation has its solution graphed
on this number line?

—4n+ 8= -
—4n—-8=12
4n — 8 = —12
4n —8 =12

2. Which number line shows the solution
to this equation?

@! ==

o

d4p—5=2p+1

A

_L__.
&
b
L
o
ik

3
PP | | | | | & | |
= 1 I I I T 1 1 -
4 -3 2 -1 0 1 3 4
PR | P | | | | | | R
1 T 1 1 i ] I 1 [
- 5 -8 4 g 1 3 4
| 1 | | | ! Py |5
o~ I 1 1 I I | T 1
o -8 =2 4 0 1 3 4

3. Which inequality represents the solution
shown on this number line?

3 -2 1 0 1 2

A 3k—-27=-18
B 3k—-27=18
C 3k+27=-18
D 3k+27=18

4. Which graph shows the solution to this

inequality?
~Ta <14
A Gt ——F—+—F+——>
4 3 -2 -1 0 1 2 3 4
B <« el
4 3 2 -1 0 1 2 3 4
C <ty ————>
-4 3 -2 -1 0 1 2 3 4
D <ttt
-4 -3 2 -1 0 1 2 3 4

87



5. Which is the graph of this linear 6. What is the slope of the line that passes

equation? through points with coordinates (2, 1)
and (7, 4)?
-2x+y=6 5
. A -3
A y ‘ - 3
_1 ; ) - B 5
3
Cs
5
0-9 -8 -7 -6 -5 4 -3 -2 -10] ] [] x D _3_
: 7. What is the slope of the line whose
' equation is y = —2x + 9?
B y A -9
\ £
B -2
N 2
C -5
iu-s-a—1~a—54}l\- =L o X . D 9
L] M
C y
5 ,
D . y

88



8. Which linear equation is graphed below? 10. Which equation represents the data
g ‘shown in this table?
K
10 : T T
8
1 2
6
5 2 5
4
N 3 8
2
1 4 11
4—1098—765/43—2—1!‘7 2345678910
" A y=x+1
B y=3x—1
; C y=4x-2
D y=>5x—3
-10 .

i Ly

A y=2x+38 11. What is the y-intercept of the line

B y=—4x+ 38 whose equation is y = 4x — 3?

C y=4x+38 ' A -3

4

D y=8x-4 B —3

C 3

9. A line has a slope of 5 and a y-intercept D 3

of 7. What is the’equation of the line?

A y=Tix+5 | 12. The slope of a line changes from —5

B y=-Tx+5 _' to % How does the new line compare

C y=5x+7 with the original line?

D y==5x+7 A Itis steeper and rises from left
to right instead of falling from
left to right.

B It is steeper and falls from left
to right instead of rising from
left to right.

C Tt is less steep and rises from left
to right instead of falling from
left to right.

D It is less steep and falls from left
to right instead of rising from
left to right.




13.  Which verbal description represents the
data in this graph?

—t—t
]
)
~
@
©
-
3 —

90

NN j‘

A yequals the sum of x and 2.
B yequals the sum of x and ~2.

C y equals the product of x and 2.

Dy equals the product of x and -2, |

14.

T

What is the slope of the line graphed
below? ' : ‘
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4 -3
A ~3 C 7
3 < 4
B ~7 D 3
This table of values shows how hourly

15.

wages at a factory are related to years
of experience.

$9.00
$9.50
$10.00
$10.50
$11.00
$11.50

DA~ -

If the data were graphed with x-valnes
representing years of experience and
y-values representing hourly wages,
what would be the slope of the line?

A C

O |—
—|N

B D

~|o
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_Miehic Ubisoning + Aljele. e

1. Which equation has its solution graphed
on this number line? n=- I

<« | & 1 | |
=1 L T T ! I

]
1
-3 2 - 0 1 2 3

A —4n+8=-12 PWJ’“ vl
—4n—-8=12 o} N 4o 2000
O4n—8——12 @%M}ﬂov\{vs%
D 4n-8=12 (P d(\musa
e Stk

2. Which number line shows the solution
to this equation?

—
>

d4p—5=2p+1
A —t———————
4 3 -2 -1 0 1 2 3 4
B «—t+—+——+—+—+——+——
4 3 2 -1 0 1 2 3 4
C —t+—4+—+—+—+—+——+—++—>
4 8 2 -1 0 1 2 3 4

A
_L__
CSJ"
ll\J“
1
O__.
—
N
w 9
g

v

3. Which inequality represents the solution

shown on this number line?
> (2 <5

5 -4 3 2 -

A 3—27=-18 80\% 20Ch “W{%

B sk-27=18 Ap fhnd A e Solidion.

C 3k+27=-18

@3k+27218

4. Which graph shows the solution to this
inequality?

‘ —Ta<14

A € —————1—
-4 3 2 -1 0 1 3 4
(B)«—+——o >
4 3 2 -1 0 1 2 3 4
C <= e tp———>
4 3 2 -1 0 1 2 3 4
D Gt
4 3 -2-10 1 2 3 4

&m\@m[wwb yeverse W
neguals !
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 Wrife he.gpuion 10 Slr-intit
i 5. Which is the graph of this linear /PO rin
equation?

hq;ﬂ

i

| 2x4+y=6
| ﬁ— :
WX

;j}- % FAX

i = AX +0

%/ﬂ Vf

™ b . y

88

X=X
6. What is the slope of the line that passes
through points with coordinates (2, 1)

and )g; 4); X Y1
A —3 -
P e
: _Z

B
3
5
5

D 3

7. What is the slope of the line whose
equation is y = —2x + 9?

A -9

_ +b 4
) /*m T i

Shpe



‘L mx +b

hich linear equahon is graphed below?

-y
K
10

.9

hD ©

Y
x

WA

10-9 -8 7 -6 -5 /4 -3 -2 -~

-

el {
O O @ N OO Hh W= - N W s>

(Dy=2+8 =+

B y=-4x+38
C y=4x+8 b= §
D y=8x-4

9. A line has a slope of 5 and a y-intercept
of 7. What is the’equation of the line?

A y=Tx+5
B y=-7x+5
y=5x+7
D y=-5x+7

q:fmx +[g\

510(9& [j—l MC,

b
10. Which equation represents the data
‘shown in this table? m ,_%

@ — l AX

¢ .
+ ¢ 19
Ay=x+1 -3= 3
y=3x—1 m /

C y=4dx—2 b= J]

D y=5x-3

oocnm‘<

Blw || = ]x

—
=k

&

N/

11. What is the y-intercept of the line
whose equation is y = 4x — 3?

B
C
D

12. The slope of a line changes from —5
to % How does the new line compare
with the original line?

A It is steeper and rises from left
to right instead of falling from
left to right.

B It is steeper and falls from left
to right instead of rising from
left to right.

C )1t is less steep and rises from left
to right instead of falling from
left to right.

D Itis less steep and falls from left
to right instead of rising from
left to right.

89



13. Which verbal description represents the 14. What is the slope of the line graphed
° . 2 9 . . 7
data in this graph? below? \b u L/ﬁ_é_,
A | A
.EWT r e l '10‘ ! i } W 10‘ . !
} 9 - .9 .
‘!__ HRER _-g e et \\\ : i
‘!__ - e 6 4.6 o . .
NN ¥ S | N
| — e <] = -y i
I i ! L 1 s
{LO—9875-5-4-—2—;1_10 1‘23456;8;5;10‘)( ‘31‘0—9876-5-4—;1-!2-;_? _____ L;_g_ s?aj__g_w:x
ANERRN RN NN ENEEY ST
J y l
- -3} i -
. RENRNE - N 0 X
AN SRR ENE NN EE : |
AT - T e
EehsSRaRRELAR S SaenammD
Ty | ? YT {
@ y equals the sum of x and 2. A -2 S C %
By equals the sum of x and —2. B . -
C  yequals the product of x and 2. 4 3
D yequals the product of x and —2. .
- 15. This table of values shows how hourly
- X ,’L 2_ - Wages at a factory are related to years
9 of experience.
<” 1 $9.00
T
N 2 $9.50 +. 90
+| 3 $10.00
4 $10.50
5 $11.00
6 $11.50

representing years of experience and
y-values representing hourly wages, :
what would be the slope of the line? |

A C SIUPZ :éfj
X,
90 | | A= OW%%G In - '976\ i"2’_

' i
If the data were graphed with x-values ’i

O |—
=N

D

N |—
~ |\
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